45-128

RS PART NO.

01-087A

13-490
13-491
14-198
13-390
13-391

0128 POWER STEERING RACK REPAIR LINES

PART NO

0066
2803
2880
2881
3006
3008
3009
3015
3433
3434
3435
3436
3438
3442
3443
3452
3453
3454
3462
3464
3489
4531
4532
4533
4534
4535
4536
4537

DESCRIPTION

ASSMT BOX UP TO 24CMPT
O-RING
VITON O-RING LARGE
VITON O-RING SMALL
5/16 TUBE NUT
16MM FUEL LINE FITTING
14MM FUEL LINE FITTING
3/8 TUBE NUT
1/4 TUBE NUT 12MMX1.25
3/8 TUBE NUT 16MMX1.5
3/8 TUBE NUT 16MMX1.5
3/8 TUBE NUT 18MMX1.5
3/8 TUBE NUT 18MMX1.5
3/8 TUBE NUT 5/8X18 TPI
5/16 TUBE NUT 5/8X18TPI
1/4 HIGH PRESSURE COMP. UNION (5000PSI)
5/16 HIGH PRESSURE COMP. UNION (5000PSI)
3/8 HIGH PRESSURE COMP. UNION (5000PSI)
1/4 TUBE NUT 9/16 18 BUBBLE FLARE
3/8 TUBE NUT 16MMX1.5
5/16 FEMALE NUT 1/2 X 20TPI
5/16X30 P/S RACK LINE
5/16X30 P/S RACK LINE
3/8X30 P/S RACK LINE INVERTED FLARE
3/8X30 P/S RACK LINE
5/16X30 P/S RACK LINE
3/8X30 P/S RACK LINE
1/4X30 P/S RACK LINE

GOLD
BLUE
GOLD
GOLD
RED

YELLOW

QTY. NEEDED

RF PR RPRPRRPRPRNNNRPRPRPRNNNNNNNNBRANDRERERNER



0128 - POWER STEERING RACK LINE REPAIR ASSORTMENT

3006

5/16 TUBE NUT

3443 3489
5/16 TUBE NUT 5/16 FEMALE NUT
Y& - 18 RED

3453
5/16 S/S COMPRESSION UNION
5,000 psi

3009

14mmx 1.5
5/16 TUBE NUT

o

3462

V4 TUBE NUT
9/16-18

3452

V4 S/S COMPRESSION UNION
5,000 psi

3434 3435
% TUBE NUT %8 TUBE NUT
16mmx 1.5

3436

%8 TUBE NUT
18mmx 1.5

3464

3442 3008 3433 3438
%8 TUBE NUT %8 TUBE NUT V& TUBE NUT %8 TUBE NUT %8 TUBE NUT

Ye-18 16mmx1.5 12 mm x 1.25 16 mmx 1.5

3015 2880 2881 3454 2803
24 TUBE NUT 3/8 VITON O-RING 5/16 VITON O-RING 3/8 S/S COMPRESSION UNION 1/4 O-RING

Y8-18 5,000 psi

o

Total Pes: 46

Created: April 18%, 2012










